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Reasoning Mega Quiz for SSC CHSL (Solutions)

$1. Ans.(b)
Sol.

5. Walk
l
3. West
L
4, Wind
l
2. Write
il

1. wrong

S2. Ans.(b)
Sol.

Let present age of Amit = A
ﬂ.T.Q#ﬁ:E (A-5)

at the time of sister's marriage
A=25

~ Amit's age at the time of his sister's marriage
=25-5=20

~ AT.Q. = Father's Presentage =2 x 20 + 5
=45 year

S$3. Ans.(a)
Sol.

6 Months Subscription
Father =3 x son
After 10 years,

Son+ 10=>5 = Raman SS ' GL
Now, Raman's presentage=3+2=5

~Son+ 10=5x5=25

~son=15 TIER-II MAHA PACK

~ Present age of Father = 3 X 15 = 45 years.

Test Series, Live Classes,
Video Course, Ebooks

S4. Ans.(c) Bili |
Sol. Reacts; There is no ‘s’ in the given word. Hingual (with e-Books)
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S5. Ans.(c)

Sol.
BALL=2+1+12+12=27
CANE=3+1+14+5=23
YELL=25+5+12+12=54

$6. Ans.(a)
Sol.
(21-14)2=49

(159 -146)2 = 169
(56 - 44)2 =144

S$7. Ans.(a)
$8. Ans.(a)
S9. Ans.(d)
$10. Ans.(c)

$11. Ans.(a)
Sol.

N P B G A ] O T
+11+11+]l +ll +1l+1l+1l+ll
0 Q C H B K P U

$12. Ans.(c)
Sol. Snake is a reptile

$13. Ans.(a)
Sol. Rest are prime numbers

$14. Ans.(a)
Sol.
+1 series

$15. Ans.(c)
Sol.

—K ] is Niece of K

ENGLISH

BY

NEETU SINGH
12t May
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$16. Ans.(d)
Sol.
48

2x3=3, ®By3=—36and 2x2=14
3 4 13

$17. Ans.(c)
Sol.
Total triangles =2+1+3+1+2+1="10

(i - F

H%’!h H

A | 1

= A& DEC, ACJA, ABLK, ABMN, ABHG, ACEJ, ANKJ, AJLM, ABLC, ACBK

$18. Ans.(c)
Sol.
1 1

P
6 3, 2 5
So, remaining digit in dice is 4.

$19. Ans.(b)
$20. Ans.(a)

$21. Ans.(b)

Sol.

Ratio of present age of Pankaj and Punit=5: 6
and given the sum of their age = 33
So,5+6=11ratio =33

1 ratic =3

So, difference between age =6 -5

=1 ratio

= 3 year

$22. Ans.(d)

Sol.
/Initial position TEST SERIES

Bilingual

40

J SSC CGL 2019-20
s| 50 PRIME

30 J 400+ TOTAL TESTS
v
Final position A
= Total disptani:e=5{.‘r+4ﬂ=9[}m Va“dlty : 12 Months
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$23. Ans.(c)
Sol.
Only SALTY word cannot be derived with CONSOLIDATE

S$24. Ans.(d)

Sol.S-T, T-U,U-V,0-P,R-S, N- O means in starting 3 and last 3 having +1 in each letters
And in middle 2 letters -1 gap is there in letters.

S H P PI NG

>Kll

TO OHO

$25. Ans.(c)
Sol.

7x6+5-4=33
By using option (c)
7x5-6+4=33

35-2=33
$26. Ans.(a)
Sol.

Blue pens =19+ 4 =23

$27. Ans.(d)

Sol.

B L A N D
23 32 24 535 66

$28. Ans.(a)
$29. Ans.(b)

Complete Preparation for
$30. Ans.(c) SSC Exams

SSC

EXTREME

Video Courses, Test Series,
eBooks
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